SAP ABAP table RTP US BP PLAN {Business partners associated with a retirement plan}
ADRC

CLIENT [CLNT (3)]
RTP US BP PLAN-ADDNUMBER = ADRC—ADDRI\_I_U_I\/_IPiE_R_ - | ADDRNUMBER [CHAR (10)]

- DATE_FROM [DATS (8)]
_ - NATION [CHAR (1)]

BUTO000

RTP_US_BP_PLAN-PARTNER = BUT000-PARTNER 0N CLIENT [CLNT (3)]
-- T """ | PARTNER [CHAR (10)]

) T RTP_US_PLAN
CLIENT [CLNT (3)]

RTP ~US BP PLAN-PLAN NUMBER = RTP US PLAN-PLAN NUMBER
—————— 0..N | BKKRS [CHAR (4)]

————————————————————————— PLAN_NUMBER [CHAR (15)]

__________________________ T000
RTP US BP PLAN-RLTYP = TBOO3-ROLE 0..N
MANDT [CLNT (3)]

e e TB0O3

0. N | CLIENT [CLNT (3)]
ROLE [CHAR (6)]

- TBKKO1
Tt MANDT [CLNT (3)]
BKKRS [CHAR (4)]




